Quiz 6
ID#:

1. THREEDY 8 DARIZOWTRDORMIZE 2 X, Consider trees with 8 vertices.

Name:

(a) 7TTHRDORED 2,2,2,1,1,1,1 TH 5 & ZHRD D DDHF DXL I\ DD, What is
the degree of the remaining vertex if the degrees of seven vertices are 2,2,2,1,1,1,17

(b) HiflDOSMZ2 w729 (METRV) Kp 3 fifid %, Zho ZKURE X, Depict three

non-isomorphic trees satisfying the condition in the previous problem.

2. A,B,C,D,E,F, G, HD8HIm2fs (HETHRV) v F7—7Taxtwhoboz
fED 72w, 2HIKHEZRHSEIA PR TORDEHICHEA6NTVRELEE, ZDRY FT7—7%
ToORITRL, 2 A F&il%2#HFIT, Find a most inexpensive network connecting A, B, C, D,
E, F, G, H and its total cost by referring to the cost table below.
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e

¥ e o [ [a[B[CID[E[F[C[H]
Al-[31][2]3]5[2]3

B|3]- 23424

() ‘D Cl1la4]-]42]3]27]3
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El3[32]2]-13]4]4

Flls[a3[a]3]-]3]3

() () Gla2l2]234a]3]-14
H|3 435 [4]34]-

® )
Total Cost: units
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